Answer: Game Theory

Ans. 1 

Two pure-strategy Nash equilibria are (Opera, Opera) and (Football, Football)

One mixed-strategy Nash equilibrium is Ruth plays (2/3, 1/3) and Chris plays (1/3, 2/3) 
Ans. 2
a)
Each firm's dominant strategy is the low price. This follows from the realization   that each player is better off with the low price strategy regardless of the opponent's strategy.
b)
With an infinite number of trials, a trigger (tit-for-tat) strategy is appropriate. Under trigger strategy, each player chooses the high price so long as his rival cooperates by also choosing the high price. Once the rival cuts prices, the other player retaliates. If the rival raises price back to the high price, the firm follows suit.
c)
A finite number of periods implies a low price for every period. The process begins when each player realizes its opponent cannot retaliate after the last period so that the low price is rational for the last period. This in turn makes the low price rational for the next to last period and so on.

Ans. 3
a) Revenue is 1000(90p1- 0.5p12 + 0.25p1p2)
b) With the revenue functions we have specified, the best response function of company 1 is described by the formula BR1(p2) = 90 + p2/4 .
c) BR2(p1) = 90 + p1/4

d) p1 = 120 and p2= 120
e) company 2 chooses  p2 = $90 + p1/4.

If company 1 is aware of how company 2 will react to its own choice of price, company 1 chooses $128.55. Given this price for company 1, company 2 chooses $186.41
Ans. 4
Same answer whichever method is used.

SPE is (Enter, (Accommodate, Monopoly))

Firm A gets 2 and firm B gets 2

